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The ﬁgures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

i " 1. Answer the following questions : (any sévén)
' : 1x7=7
\Clard mr« T o1l 8 (Riestent swreb)
| (1) Write an example of a solution of liquid

\ - in gas.
S V-Cﬂﬁamwwﬁﬁ@maﬁﬁw.ﬁm

- (i) What is reduced phase rule ?
B 2R TS R e

: C.onid. _



(i) What is equiv;alent‘condlflcti‘vity‘ ?
oo HfRaike R
(iv) ',Expr'elss a Daniell cell.
. UGG (T 1 e 1 |-
(v) Arfang,e the foilqwing in order of
increasing acidity :
CICH,COOH, CL,CHCOOH, Cl;CCOOH
‘ (vi) Aniline reacts with bromine water to give
(a) o-nitroaniline
(b) m—nitréam'line
(c) p-nitroaniline
“(d) 2,4-dinitroaniline

(vi) Which of the following diazonium salts
is most stable ? :

O IR (o) iR vy
(@) Benzene diazonium fh.mAroborate
(b) Benzene diazonium chloﬁde ‘

(¢  Aliphatic diazonium salt
(d) None of the above
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(viii)‘Which of the following proteing
- transports oxygen in our body ?

(a) Keratin o .
(b) | Nucleo préteih

(c) Haexﬁoglobin '

(d) Insulin . |

(ix) Glycine when heated alone ;givgs
”(a) methylamine .
(b) 2-amino ethanol
(c) diketopiperaziﬁe
(d) zw.etterio'n

(x) Carbohydrates are characterised by the
presence of B :

TS AT (DR SRR R R
e Reeee

(a) OH group

(b) >C =0 group

(c) Asymmetric carbon
(d) Al of the above

3 (Sem-4/CBCS) CHE HG/RC/G 3 | ' Contd.




- AnSwef the following quesfions g (any four) ‘

" non-ideal solution.

(vi) Explain, aniline is a weaker base than
ethyl amine.

RICIGh] m%m‘irh“gwﬁmwmn o |

: . . 2x4=8,
O eitaIRE T T 8 (i Riereat o1fsy) (i) How areamino acids related to protein * ?
(i) Distinguish between ideal solut10n and A <fow ﬁs WS el NS T~ 2

(viii) Justify the formation of ‘osazone-from .

o Wmmw pc ) ’W%Jﬁ?m glucose and fructose.
'(ii) ‘State and explain phase rule; PG R TR GI o[ Wﬂ@’ﬂ 513?1‘3 ﬂ% S
Lo .
‘ mﬁ%mﬁf’?m| : |
(_W) :?Z;g’;dicélg;gfg 2Mlsolut10n of KCl| 3 Answer the foilowing questibns : _(ahy three) o
cm~l. Calculate its ' ’ =1
~molar conduct1v1ty ‘ 4 5x3. 15
- 298K TmerS KC onmaﬁaﬂﬁaﬁvﬁf TR ST W e - )
0.0248 S cm-! gEr R ﬂﬁ‘a"fﬁaﬁmﬁq‘ﬂ ; @) (a) WhatisCsT?-
Aalln | CST W 2 o
(;v) ?lStlngu};?h between reversible cell and .(b) State and cxplaih Raoult’slaw.‘ ‘
rrever o " '
silecell: M5 St vl e g
- AR} (Y |
'_( WWW SIS 9{124%‘]]%‘”' (c) Define with- example about
v) Exghmaln Why' carboxylic acids have| ‘azeotropic mixture.
higher boil;
alcohoj,. g point than corresponding|. <Rreg R ﬁm Sz e
© 0 1+242=5
IR s < iR wﬁﬁs G ’fﬁ@ [ : | - |
T TeeaRi | 01451 <84 | 3 (Sem-4/CBCS) CHE HG/RC/G 5 : Contd.
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(i) f (a) Define phasé, 'components and
degree of freedom.

ARG, Tl B FoF At A B @i |

SR I | | N

- (b) Find the number of components
‘ and number of phases in the
following equilibria and evaluate

the degree of freedom : ‘

oo RIFAIGR st e siag, T
IR O g Tt FRefe 3w ¢
- N2(9)+0;(g) = 2NO(g). |
- : | 3+2=5
(i) {a)  The resistance of a 01M solution
o -of an electrolyte is 60Qat 300K, The

-dimensions of each electrode in the

- cell are 0.85cmx 1.4cm and the
- distance between them is lem.
- Calculate the following — cell .
- constant, conductivity and molar
.. conductivity of the solution, -
300K’ 0.1M RepeResmy wq o care

600, @13 R v g Al

0-85em x 1.4cm S P 1 o, |

TR ARafeet e ey |
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.(b) Conductivity decreases but molar
- conductivity of strong electrolytes
increases on dilution. Explain.

wTgore, S Rk @b Raizer s
e cIeiR szl A |
' 3+42=5 .
How can you ‘determine pH using
hydrogen electrode ? " o
RZWTEH SN INYT IR pH Fefy
(A FRAI? o
. (b)) What types of information may get
' by electrochemical series ? ._
Rogre IR T SRR o1t (ACe $Rer
AR ARy | o

(iv) (a)

| 3425
v (a0

Write Perkin’s reaétion with
example. - - )
SRR TS ARRR R frany
() Write the prodlicts’o‘f the following
reaction: -

e T REr

) OH . : ‘ ;o .. H2804
@i +CH3COOCOCH, —125%0s
- NO, e

3+2=5
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. .-

) (@

(b)

i) (o)

)

Arrange the following in decreasing

order of bas101ty

WWWTW

N,N-dxmethyl aniline, aniline, -
‘ammonia, ethylamine p-nitroaniline

Write * with an ‘example of

Sandmeyer reactlon

-%mmtﬂrmwﬁmml
2+3= 5.

What kind of bondmg is responsible
‘for tertlary structure of proteln ?

Zvncaw

| ,erte brleﬂy on general propert1es

of protems :

- aﬁmmmqhﬁwml

(i) (a)

2+3=5

Write the maln classeS'Of

‘ carbohydrates VVlth example

® TR 1 oz

SARTAE it
1%{’*’ffl

' 3(Sem-4/CBOS) Cie HG/RC/G g

4.

)

- (b)

Clas31fy the followmg 1nto reducmg |

‘and non- reducmg sugars

s car%ﬁwﬂtz

Fructose, maltose, Iactose sucrose,

. starch; glucose, cellulose

3+2?5

Answer the following questlons (any three) -

10><3 30.

WWW%&H (ﬁmmﬁﬁﬁr)

(@)

(b)
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Explain liquid cornp031t10n curve
and vapour composition curve from
lever rule.

(TR TS SR o9 I (14 & (187

T (14 790 I T4

State and  explain Nernst
distribution law. Write the
conditions for apphcablhty of the

. law.

Wﬁ‘?‘iﬁfﬁ%ﬂi%?ﬁwwm’i
ﬁﬁammwféﬁm

5+5=10

Contd.




@)

;(ii) (@) Wrivte short note o}n :

®)

(i) (a)

Clausius-Clapeyron equation

Or ‘
| Phase dlagram of one component
. System -
M@ﬁaﬁa ﬂﬁﬁwr
L4
P %vnw I& ©Iq enmf?r
| Descrlbe phase dlagram of water-
- system.
: Water system?ﬁ@ﬂf@@%aﬁmw' |
. ‘ 5+5=10 -
Derive the: conductivity at infinite

~dilution by applymg Kohlrausch
. law,
-"¢5§ﬁ§sﬁsﬁﬁ% TS Wi sﬁrsﬁs'
- (b)

Write ,short note on : -

WM

conductometnc tltratlon

| 5+5=10
3 (Sem-4/CBCS) CHE HG/RC/G 10

) (@)
~ oes e

(b)

()

(d)

‘Write ‘shoftly :

Standard hydrogen electrode and

redox tltratlon

Derive VNerAnst equation for .

measuring EMF of the cell.

<51 Rge (PIT8 EMF R A wﬁ@a; |
ﬂﬁaﬁm%ﬁem

Write the half cell reactions for . -

electrochemical cell involving the

| followmg cell reaction :

'—aT-ﬁanﬁﬁ?mnﬁr-aom%—ﬁaﬂeammnﬁﬁﬁ"

H;(g)~ CuQ’ = Cu (s) s2H"

Write the apphcatlons of electrolysm, |

- in 1ndustr1al purpose.

- ol @—ﬁwaﬁmacﬁ ﬁmﬂa’hﬂww
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4+2+2+2=10.
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© (@
Ao ol ST
- o
CHj3 - C=OH -

Identify A, Band Cin the foilowing

reaction : :

- O RN 14 4, B o1 ¢ B

- C . . . .
a(oH )2 »A—Heat o NHy-NH, C
— — 227772,

(b)

©

, 'Pr_epare ihe following : .

TS AR o < ¢

| Acetopherione from acetic acid and
-ethyl-acetate from ethyl aicohol N

Explain, why acetyl chloride gives

. vr‘1uc1eophilic Substitution reactions
|- .more easily than ethyl chloride.

o011 3 4120, e iR o TS

~ SNﬁmm‘ﬂﬁEﬁam,qﬁww| .

) @)
~ -treated with b
. NaOH? = =

3+4+3=10 A 

What‘happé.ns when aniline is

enzoyl chloride and

I R 2 R 2o

3 (Sem-4/CBCS) CHE HG/Rc/6 192

RS o= B |

(b)

Complete the reaction :

S RIS Tsjef ot ¢

. CeHsNHy —X—>CgHsOH

(

Write the Hinsbérg test for _
distinguish 1° amine, 2° amine and v

‘3% amine. :

10 GNZH, 2° AT A 3° TN #4147

: Wf‘s@sﬁmﬁm

e

Give the mechanism of coupling of

~ diazonium salt with phenol. _

- (vii) (a) v

" b)

3 (Sem-4/CBCS) CHE HG/RC/G 13

GIEe AN TR SR (TS FIeAR

Rierars feFaifg e -
S 2+2+4+2=10

Synthesize the following :

©oTS AR FRTHT B ¢

Ethyl chloride to aniline and acetic

acid to glycine o ‘

What do you mean by zwitterionic
property of an amino acid ?

o oo R e (R
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@

(i) (@)

()

Write the Principle that can. be

‘applied for the separatlon of a-

rmxture of aming acid.

R oS R gy .
| ﬂﬂ%ﬁﬁ@l@ﬁﬁﬁﬂA
.ﬂmﬂ@mﬁf%‘c‘smw |

| | 4+24242= 10
Convert the followmg

Eﬁ@ﬁwnmaawww%‘aww°‘

Fructose j Into glucose ang
glucose into fructose

Explain the following :

R 1) K=

aﬁrﬁAM£&x>aam*ﬁﬁ$anﬁmal
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Justify the structural relationship -

of amino acids, peptides and
proteins. -

ﬂﬁh«ﬂﬁfﬁ*ﬁ*EEW%ﬁﬁﬁaﬂﬁﬂﬂwﬂ$3k
IS -
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D-glucose and L-glucose give the’
same dicarboxylic acid on -
.oxidation. -«

SRR D-glucose 9% L—glucose A

AT (TR IS «fen ege FE|
Suc_rose does not show
mutarotation.
7 (e FCORTSb ( (TR |
A | | 4+6=10"
3500




